
  

 1/                     2/ 

   1-----15-----26        2-----15-----25 

   |23      7    |12      |24      7    |11 

   |  18-----20----- 4    |  16-----20----- 6 

  17   | 19      6   |   18   | 19      5   | 

   | 3 |   14    |25 |    | 1 |   14    |27 | 

   |  22      9  |  11    |  23      9  |  10 

  24---|- 8-----10   |   22---|- 8-----12   | 

    16 |   21      5 |     17 |   21      4 | 

       2-----13-----27        3-----13-----26 

 3/                     4/ 

   4-----17-----21        6-----16-----20 

   |26      3    |13      |26      3    |13 

   |  12-----22----- 8    |  10-----23----- 9 

  18   | 19      5   |   17   | 21      4   | 

   | 1 |   14    |27 |    | 1 |   14    |27 | 

   |  23      9  |  10    |  24      7  |  11 

  20---|- 6-----16   |   19---|- 5-----18   | 

    15 |   25      2 |     15 |   25      2 | 

       7-----11-----24        8-----12-----22  [Count = 4]  OK! 



   / /  

   1-----10-----19        1-----15-----26 

   | 2     11    |20      |23      7    |12 

   |   3-----12-----21    |  18-----20----- 4 

   4   | 13     22   |   17   | 19      6   | 

   | 5 |   14    |23 |    | 3 |   14    |25 | 

   |   6     15  |  24    |  22      9  |  11 

   7---|-16-----25   |   24---|- 8-----10   | 

     8 |   17     26 |     16 |   21      5 | 

       9-----18-----27        2-----13-----27 

/**/ 
void damt(void){ 
 tnm[1]=nm[1];  tnm[2]=nm[23];  tnm[3]=nm[18]; 
 tnm[4]=nm[17];  tnm[5]=nm[3];  tnm[6]=nm[22]; 
 tnm[7]=nm[24];  tnm[8]=nm[16];  tnm[9]=nm[2]; 
 tnm[10]=nm[15]; tnm[11]=nm[7];  tnm[12]=nm[20]; 
 tnm[13]=nm[19]; tnm[14]=nm[14]; tnm[15]=nm[9]; 
 tnm[16]=nm[8];  tnm[17]=nm[21]; tnm[18]=nm[13]; 
 tnm[19]=nm[26]; tnm[20]=nm[12]; tnm[21]=nm[4]; 
 tnm[22]=nm[6];  tnm[23]=nm[25]; tnm[24]=nm[11]; 
 tnm[25]=nm[10]; tnm[26]=nm[5];  tnm[27]=nm[27]; 
} 
/**/ 



   

 n1+n23+n18=C; | n1+n15+n26=C; | n1+n17+n24=C; 

 n17+n3+n22=C; | n23+n7+n12=C; | n23+n3+n16=C; 

 n24+n16+n2=C; | n18+n20+n4=C; | n18+n22+n2=C; 

 n15+n7+n20=C; | n17+n19+n6=C; | n15+n19+n8=C; 

 n19+n14+n9=C; | n3+n14+n25=C; | n7+n14+n21=C; 

 n8+n21+n13=C; | n22+n9+n11=C; | n20+n9+n13=C; 

 n26+n12+n4=C; | n24+n8+n10=C; | n26+n6+n10=C; 

 n6+n25+n11=C; | n16+n21+n5=C; | n12+n25+n5=C; 

 n10+n5+n27=C; | n2+n13+n27=C; | n4+n11+n27=C; 
 

  

   1-----10-----19        1-----15-----26 

   | 2     11    |20      |23      7    |12 

   |   3-----12-----21    |  18-----20----- 4 

   4   | 13     22   |   17   | 19      6   | 

   | 5 |   14    |23 |    | 3 |   14    |25 | 

   |   6     15  |  24    |  22      9  |  11 

   7---|-16-----25   |   24---|- 8-----10   | 

     8 |   17     26 |     16 |   21      5 | 

       9-----18-----27        2-----13-----27 
 

   

 n1+n27=n23+n5=n18+n10=n17+n11=n3+n25 

  =n22+n6=n24+n4=n16+n12=n2+n26=n15+n13 

  =n7+n21=n20+n8=n19+n9=n14+n14=CC 
 

   

 n1<n18; n1<n24; n1<n2; n1<n26; n1<4; n1<n10; n1<n27; and n23>n17>n15; 



     

  ( ) 2007    

  1/ /  

   1-----10-----19        1-----15-----26 

   | 2     11    |20      |23      7    |12 

   |   3-----12-----21    |  18-----20----- 4 

   4   | 13     22   |   17   | 19      6   | 

   | 5 |   14    |23 |    | 3 |   14    |25 | 

   |   6     15  |  24    |  22      9  |  11 

   7---|-16-----25   |   24---|- 8-----10   | 

     8 |   17     26 |     16 |   21      5 | 

       9-----18-----27        2-----13-----27 
 

  2/ /  

   2-----12-----19        2-----15-----25 

   | 3     10    |20      |24      7    |11 

   |   1-----11-----21    |  16-----20----- 6 

   6   | 13     23   |   18   | 19      5   | 

   | 4 |   14    |24 |    | 1 |   14    |27 | 

   |   5     15  |  22    |  23      9  |  10 

   7---|-17-----27   |   22---|- 8-----12   | 

     8 |   18     25 |     17 |   21      4 | 

       9-----16-----26        3-----13-----26 
 

  3/ /  

   4-----16-----19        4-----17-----21 

   | 7     10    |22      |26      3    |13 

   |   1-----13-----25    |  12-----22----- 8 

   8   | 11     23   |   18   | 19      5   | 

   | 2 |   14    |26 |    | 1 |   14    |27 | 

   |   5     17  |  20    |  23      9  |  10 

   3---|-15-----27   |   20---|- 6-----16   | 

     6 |   18     21 |     15 |   25      2 | 

       9-----12-----24        7-----11-----24 
 

  4/ /  

   6-----18-----21        6-----16-----20 

   | 8     11    |23      |26      3    |13 

   |   1-----13-----25    |  10-----23----- 9 

   9   | 12     24   |   17   | 21      4   | 

   | 2 |   14    |26 |    | 1 |   14    |27 | 

   |   4     16  |  19    |  24      7  |  11 

   3---|-15-----27   |   19---|- 5-----18   | 

     5 |   17     20 |     15 |   25      2 | 

       7-----10-----22        8-----12-----22  [  = 4]  OK! 

 



  -2 
   1-----10-----19        2-----15-----25 
   | 2     11    |20      |24      7    |11 
   |   3-----12-----21    |  16-----20----- 6 
   4   | 13     22   |   18   | 19      5   | 
   | 5 |   14    |23 |    | 1 |   14    |27 | 
   |   6     15  |  24    |  23      9  |  10 
   7---|-16-----25   |   22---|- 8-----12   | 
     8 |   17     26 |     17 |   21      4 | 
       9-----18-----27        3-----13-----26 
 

   

void damt(void){ 
 tnm[1]=nm[2];  tnm[2]=nm[24];  tnm[3]=nm[16]; 
 tnm[4]=nm[18];  tnm[5]=nm[1];  tnm[6]=nm[23]; 
 tnm[7]=nm[22];  tnm[8]=nm[17];  tnm[9]=nm[3]; 
 tnm[10]=nm[15]; tnm[11]=nm[7];  tnm[12]=nm[20]; 
 tnm[13]=nm[19]; tnm[14]=nm[14]; tnm[15]=nm[9]; 
 tnm[16]=nm[8];  tnm[17]=nm[21]; tnm[18]=nm[13]; 
 tnm[19]=nm[25]; tnm[20]=nm[11]; tnm[21]=nm[6]; 
 tnm[22]=nm[5];  tnm[23]=nm[27]; tnm[24]=nm[10]; 
 tnm[25]=nm[12]; tnm[26]=nm[4];  tnm[27]=nm[26]; 
} 
 

 -2   
 n2+n24+n16=C; | n2+n15+n25=C; | n2+n18+n22=C; 
 n18+n1+n23=C; | n24+n7+n11=C; | n24+n1+n17=C; 
 n22+n17+n3=C; | n16+n20+n6=C; | n16+n23+n3=C; 
 n15+n7+n20=C; | n18+n19+n5=C; | n15+n19+n8=C; 
 n19+n14+n9=C; | n1+n14+n27=C; | n7+n14+n21=C; 
 n8+n21+n13=C; | n23+n9+n10=C; | n20+n9+n13=C; 
 n25+n11+n6=C; | n22+n8+n12=C; | n25+n5+n12=C; 
 n5+n27+n10=C; | n17+n21+n4=C; | n11+n27+n4=C; 
 n12+n4+n26=C; | n3+n13+n26=C; | n6+n10+n26=C; 
 

 -2   

 n2+n26=n24+n4=n16+n12=n18+n10=n1+n27 

  =n23+n5=n22+n6=n17+n11=n3+n25=n15+n13 

  =n7+n21=n20+n8=n19+n9=n14+n14=CC 
 
 -2  

 n1<n7; n1<n9; n1<n19; n1<n21; n1<27; and n24>n23>n18>n17; 

     



  ( ) 2007    

  1/ / -2 

   1-----10-----19        2-----15-----25 

   | 2     11    |20      |24      7    |11 

   |   3-----12-----21    |  16-----20----- 6 

   4   | 13     22   |   18   | 19      5   | 

   | 5 |   14    |23 |    | 1 |   14    |27 | 

   |   6     15  |  24    |  23      9  |  10 

   7---|-16-----25   |   22---|- 8-----12   | 

     8 |   17     26 |     17 |   21      4 | 

       9-----18-----27        3-----13-----26 
 

  2/ / -2 

   1-----10-----19        4-----17-----21 

   | 4     13    |22      |26      3    |13 

   |   7-----16-----25    |  12-----22----- 8 

   2   | 11     20   |   18   | 19      5   | 

   | 5 |   14    |23 |    | 1 |   14    |27 | 

   |   8     17  |  26    |  23      9  |  10 

   3---|-12-----21   |   20---|- 6-----16   | 

     6 |   15     24 |     15 |   25      2 | 

       9-----18-----27        7-----11-----24 
 

  3/ / -2 

   1-----11-----21        6-----16-----20 

   | 6     13    |23      |26      3    |13 

   |   8-----18-----25    |  10-----23----- 9 

   2   | 12     19   |   17   | 21      4   | 

   | 4 |   14    |24 |    | 1 |   14    |27 | 

   |   9     16  |  26    |  24      7  |  11 

   3---|-10-----20   |   19---|- 5-----18   | 

     5 |   15     22 |     15 |   25      2 | 

       7-----17-----27        8-----12-----22 
 

  4/ / -2 

   3-----11-----19        1-----15-----26 

   | 1     12    |20      |23      7    |12 

   |   2-----10-----21    |  18-----20----- 4 

   5   | 13     24   |   17   | 19      6   | 

   | 6 |   14    |22 |    | 3 |   14    |25 | 

   |   4     15  |  23    |  22      9  |  11 

   7---|-18-----26   |   24---|- 8-----10   | 

     8 |   16     27 |     16 |   21      5 | 

       9-----17-----25        2-----13-----27  [Count = 4]  OK! 



/** Prototype Cubes of Order 3 and Self-Complementary **/ 
/**  Magic Cubes Reconstructed by 'DAM Transformation **/ 
/** 'ProtoMC3.c' built by Kanji Setsuda **/ 
/** on Jan. 4, 2005 and Mar. 5, 2007 **/ 
/** Working with MacOSX and Xcode2.2 **/ 
/**/ 
#include <stdio.h> 
/**/ 
short LSM, CC; 
short cnt, cnt2; 
short nm[28], uflg[28]; 
short tnm[28]; 
short anm[3][28]; 
/**/ 
void stp01(void), stp02(void), stp03(void), stp04(void); 
void stp05(void), stp06(void), stp07(void), stp08(void); 
void stp09(void), stp10(void), stp11(void); 
void stp12(void), stp13(void), stp14(void); 
void stp15(void), stp16(void); 
void ansrecord(void), print2ans(void), print2sol(void); 
void damt(void); 
/**/ 
int main(){ 
 short n; 
 printf("\n** Prototype Cubes of Order 3 and Self-Complementary **\n"); 
 printf("**  Magic Cubes Reconstructed by 'DAM Transformation **\n"); 
 for(n=0;n<28;n++){nm[n]=0; uflg[n]=0;} 
 LSM=42; CC=28; cnt=0; cnt2=0; 
 nm[14]=14; uflg[14]=1; 
 stp01(); 
 uflg[14]=0; 
 printf("[Count = %d]  OK!\n",cnt); 
 return 0; 
} 



/* Begin The Search */ 
/* Set n1 & n27 & n1<n27 */ 
void stp01(){ 
 short n,m; 
 for(n=1;n<14;n++){m=CC-n; 
  if((uflg[n]==0)&&(uflg[m]==0)){ 
   uflg[n]=1; uflg[m]=1; 
   nm[1]=n; nm[27]=m; 
   stp02(); 
   uflg[m]=0; uflg[n]=0;} 
  } 
} 
/* Set n26(>n1) & n2(>n1) */ 
void stp02(){ 
 short n,m; 
 for(n=27;n>nm[1];n--){m=CC-n; 
  if((m>nm[1])&&(uflg[n]==0)&&(uflg[m]==0)){ 
   uflg[n]=1; uflg[m]=1; 
   nm[26]=n; nm[2]=m; 
   stp03(); 
   uflg[m]=0; uflg[n]=0;} 
  } 
} 
/* Set n15=LSM-n1-n26 & n13 */ 
void stp03(){ 
 short n,m; 
 n=LSM-nm[1]-nm[26]; 
 m=LSM-nm[27]-nm[2]; 
 if((0<n)&&(n<28)&&(n+m==CC)){ 
  if((uflg[n]==0)&&(uflg[m]==0)){ 
   uflg[n]=1; uflg[m]=1; 
   nm[15]=n; nm[13]=m; 
   stp04(); 
   uflg[m]=0; uflg[n]=0;}} 
} 
/* Set n24(>n1) & n4(>n1) */ 
void stp04(){ 
 short n,m; 
 for(n=27;n>nm[1];n--){m=CC-n; 
  if((m>nm[1])&&(uflg[n]==0)&&(uflg[m]==0)){ 
   uflg[n]=1; uflg[m]=1; 
   nm[24]=n; nm[4]=m; 
   stp05(); 
   uflg[m]=0; uflg[n]=0;} 
  } 
} 
/* Set n17=LSM-n1-n24 & n11 & n15<n17 */ 
void stp05(){ 
 short n,m; 
 n=LSM-nm[1]-nm[24]; 
 m=LSM-nm[27]-nm[4]; 
 if((nm[15]<n)&&(n<28)&&(n+m==CC)){ 
  if((uflg[n]==0)&&(uflg[m]==0)){ 
   uflg[n]=1; uflg[m]=1; 
   nm[17]=n; nm[11]=m; 
   stp06(); 
   uflg[m]=0; uflg[n]=0;}} 
} 
/* Set n16=LSM-n2-n24 & n12 */ 



void stp06(){ 
 short n,m; 
 n=LSM-nm[2]-nm[24]; 
 m=LSM-nm[26]-nm[4]; 
 if((0<n)&&(n<28)&&(n+m==CC)){ 
  if((uflg[n]==0)&&(uflg[m]==0)){ 
   uflg[n]=1; uflg[m]=1; 
   nm[16]=n; nm[12]=m; 
   stp07(); 
   uflg[m]=0; uflg[n]=0;}} 
} 
/* Set n23(>n17) & n5 */ 
void stp07(){ 
 short n,m; 
 for(n=27;n>nm[17];n--){m=CC-n; 
  if((uflg[n]==0)&&(uflg[m]==0)){ 
   uflg[n]=1; uflg[m]=1; 
   nm[23]=n; nm[5]=m; 
   stp08(); 
   uflg[m]=0; uflg[n]=0;} 
  } 
} 
/* Set n18=LSM-n1-n23 & n18>n1 & n10(>n1) */ 
void stp08(){ 
 short n,m; 
 n=LSM-nm[1]-nm[23]; 
 m=LSM-nm[27]-nm[5]; 
 if((nm[1]<n)&&(n<28)&&(n+m==CC)){ 
  if((nm[1]<m)&&(uflg[n]==0)&&(uflg[m]==0)){ 
   uflg[n]=1; uflg[m]=1; 
   nm[18]=n; nm[10]=m; 
   stp09(); 
   uflg[m]=0; uflg[n]=0;}} 
} 
/* Set n3=LSM-n23-n16 & n25 */ 
void stp09(){ 
 short n,m; 
 n=LSM-nm[23]-nm[16]; 
 m=LSM-nm[5]-nm[12]; 
 if((0<n)&&(n<28)&&(n+m==CC)){ 
  if((uflg[n]==0)&&(uflg[m]==0)){ 
   uflg[n]=1; uflg[m]=1; 
   nm[3]=n; nm[25]=m; 
   stp10(); 
   uflg[m]=0; uflg[n]=0;}} 
} 
/* Set n22=LSM-n18-n2 & n6 */ 
void stp10(){ 
 short n,m; 
 n=LSM-nm[18]-nm[2]; 
 m=LSM-nm[10]-nm[26]; 
 if((0<n)&&(n<28)&&(n+m==CC)){ 
  if((uflg[n]==0)&&(uflg[m]==0)){ 
   uflg[n]=1; uflg[m]=1; 
   nm[22]=n; nm[6]=m; 
   stp11(); 
   uflg[m]=0; uflg[n]=0;}} 
} 
/* Check(n17+n3+n22=LSM) */ 



void stp11(){ 
 if(nm[17]+nm[3]+nm[22]==LSM){stp12();} 
} 
/* Set n7 & n21 */ 
void stp12(){ 
 short n,m; 
 n=LSM-nm[23]-nm[12]; 
 m=LSM-nm[5]-nm[16]; 
 if((0<n)&&(n<28)&&(n+m==CC)){ 
  if((uflg[n]==0)&&(uflg[m]==0)){ 
   uflg[n]=1; uflg[m]=1; 
   nm[7]=n; nm[21]=m; 
   stp13(); 
   uflg[m]=0; uflg[n]=0;}} 
} 
/* Set n20=LSM-n15-n7 & n8 */ 
void stp13(){ 
 short n,m; 
 n=LSM-nm[15]-nm[7]; 
 m=LSM-nm[13]-nm[21]; 
 if((0<n)&&(n<28)&&(n+m==CC)){ 
  if((uflg[n]==0)&&(uflg[m]==0)){ 
   uflg[n]=1; uflg[m]=1; 
   nm[20]=n; nm[8]=m; 
   stp14(); 
   uflg[m]=0; uflg[n]=0;}} 
} 
/* Check(n3+n12+n21=42) */ 
void stp14(){ 
 if(nm[18]+nm[20]+nm[4]==LSM){stp15();} 
} 
/* Set n9=LSM-n20-n13 & n19 */ 
void stp15(){ 
 short n,m; 
 n=LSM-nm[20]-nm[13]; 
 m=LSM-nm[8]-nm[15]; 
 if((0<n)&&(n<28)&&(n+m==CC)){ 
  if((uflg[n]==0)&&(uflg[m]==0)){ 
   uflg[n]=1; uflg[m]=1; 
   nm[9]=n; nm[19]=m; 
   stp16(); 
   uflg[m]=0; uflg[n]=0;}} 
} 
/* The Last Checks */ 
void stp16(){ 
 short sm1,sm2; 
 sm1=nm[22]+nm[9]+nm[11]; 
 sm2=nm[17]+nm[19]+nm[6]; 
 if((sm1==LSM)&&(sm2==LSM)){ansrecord();} 
} 
/**/ 
/* Record the Answer */ 
void ansrecord(){ 
 short n; 
 cnt++; 
 anm[0][0]=cnt; 
 for(n=1;n<28;n++){anm[0][n]=nm[n];} 
 damt(); 
 for(n=1;n<28;n++){anm[1][n]=tnm[n];} 



 print2sol(); 
} 
/**/ 
/* Print 2 Answers */ 
void print2ans(){ 
 short l,l3,m,n; 
 printf("%3d/ProtoT                /Object\n",anm[0][0]); 
 for(l=0;l<9;l++){l3=l%3; 
  for(n=0;n<l3;n++){printf("  ");} 
  for(m=0;m<2;m++){ 
   if(m==0){printf("%4d%7d%7d     ", 
    anm[m][l+1],anm[m][l+10],anm[m][l+19]);} 
   else{printf("%4d%7d%7d", 
    anm[m][l+1],anm[m][l+10],anm[m][l+19]);} 
  } 
  printf("\n"); 
 } 
 printf("\n"); 
} 
/**/ 
/* Print 2 Solutions */ 
void print2sol(){ 
 printf("%3d/ProtoT                /Object\n",anm[0][0]); 
 printf("%4d-----%2d-----%2d%9d-----%2d-----%2d\n", 
  anm[0][1],anm[0][10],anm[0][19],anm[1][1],anm[1][10],anm[1][19]);  
 printf("   |%2d%7d    |%2d      |%2d%7d    |%2d\n", 
  anm[0][2],anm[0][11],anm[0][20],anm[1][2],anm[1][11],anm[1][20]);  
 printf("   |%4d-----%2d-----%2d    |%4d-----%2d-----%2d\n", 
  anm[0][3],anm[0][12],anm[0][21],anm[1][3],anm[1][12],anm[1][21]);  
 printf("%4d   | %2d%7d   |%5d   | %2d%7d   |\n", 
  anm[0][4],anm[0][13],anm[0][22],anm[1][4],anm[1][13],anm[1][22]);  
 printf("   |%2d |%5d    |%2d |    |%2d |%5d    |%2d |\n", 
  anm[0][5],anm[0][14],anm[0][23],anm[1][5],anm[1][14],anm[1][23]);  
 printf("   |%4d%7d  |%4d    |%4d%7d  |%4d\n", 
  anm[0][6],anm[0][15],anm[0][24],anm[1][6],anm[1][15],anm[1][24]);  
 printf("%4d---|-%2d-----%2d   |%5d---|-%2d-----%2d   |\n", 
  anm[0][7],anm[0][16],anm[0][25],anm[1][7],anm[1][16],anm[1][25]);  
 printf("%6d |%5d%7d |%7d |%5d%7d |\n", 
  anm[0][8],anm[0][17],anm[0][26],anm[1][8],anm[1][17],anm[1][26]);  
 printf("%8d-----%2d-----%2d%9d-----%2d-----%2d\n", 
  anm[0][9],anm[0][18],anm[0][27],anm[1][9],anm[1][18],anm[1][27]);  
 printf("\n"); 
} 
/**/ 
/* 'Do-it-After-the-Model Transformation' */ 
void damt(void){ 
 tnm[1]=nm[1];  tnm[2]=nm[23]; tnm[3]=nm[18]; 
 tnm[4]=nm[17]; tnm[5]=nm[3];  tnm[6]=nm[22]; 
 tnm[7]=nm[24]; tnm[8]=nm[16]; tnm[9]=nm[2]; 
 tnm[10]=nm[15]; tnm[11]=nm[7]; tnm[12]=nm[20]; 
 tnm[13]=nm[19]; tnm[14]=nm[14]; tnm[15]=nm[9]; 
 tnm[16]=nm[8]; tnm[17]=nm[21]; tnm[18]=nm[13]; 
 tnm[19]=nm[26]; tnm[20]=nm[12]; tnm[21]=nm[4]; 
 tnm[22]=nm[6]; tnm[23]=nm[25]; tnm[24]=nm[11]; 
 tnm[25]=nm[10]; tnm[26]=nm[5]; tnm[27]=nm[27]; 
} 
/**/ 
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